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Figure 1 below illustrates a set-up:used for an experiment to dcmonstra;lc photosynthesis in green
plants. Study the diagram carefully and use it to answer the questions that follow.
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'@) Name the parts labelled'l, II, ITf and IV . {2 marks]

@ State one function of each of the following substances used in the experiment:
(@ lime water;

1) caustic soda;
(i)  black polythene bag. {3 marks]
) "State the importance of the set-up B in this experiment. _ {1 mark]

% In which of the set-ups A and B, would the leaves show a posit—iVE test for starch?
ii

Give one reason to support your answer in (d) (i). {2 marks]
@ State two precautions to be taken in setting up this experiment. {2 marks]
a Suggest the aim of the experiment. [1 marks]
2. In an experiment to determine the velocity of a moving body, the displacements,
d=d,d, d;d,and dg of the body and the corresponding times, t =t,, t,, t;, ¢, and t,
taken were determined. ;
Figure 2a represents the displacements, d=d, d,, d;, d, and d, while Figure 2b represents the
corresponding times, t=t, t,, t,, t, and t .
Study the figures carefully and answer the questions that follow.
dy
ds
ds
ds
Fig. 2a. Displacements, d, in centimetres
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(iv)

~

Fig. 2b. Stop clock showing time, t in scconds

Measure and record the raw displacements, d = d.d,d;d, and d,.

Read and record the times, t = t,t, bt and t,

Convert the raw values of displacements recorded in () (i) to actual displacements,
D=D, D, D, D, and D using the scale 1 cm = 10 m.

Tabulate your results obtained in (a) (i), (@) (ii), and («) (iii) as shown below.

tls t

Raw value of d/cm

Actual value of D/m

[7 marks]
@ Plot a graph with actual displacements I on the vertical axis and times, t on the
horizontal axis. |5 marks]
é:} Determine the slope of the graph.
1) State the signiﬁczmcc of the slope of the graph determined in (c) (i). [3 marks]
Figure 3 illustrates three different methods of crop propagation.
Study the figure carefully and answer the questions that follow.
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Name the parts labelled I, ll, llﬁl and IV, [2 marks]
@ Identify cach of the methods of propagation in A, B, and C. [3 marks]
Turn over
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Given a citrus seedling, a mature citrus plant, a knife and a wrapping tape,

describe how the propagation method would be performed as illustrated in
set-up B above. : [4 marks]

State three factors that influence the success of the melhod of propagation

illustrated in C above. [3 marks]
Name one ornamental plant propagated by the method illustrated in A. [Imark]
State four advantages of the methods of propagation illustrated above. [4 marks]

®@>@ &

Figure 4 below illustrates a set-up for the tltratlon of 0.2 M hydrochloric acid against
25.0 cm?® of a solution of sodium hydroxide .

Study the figure carefully and answer the questions that follow.

Vil

Name the parts tabelled, I, II, ITT, IV, V and VI .
' State one function of cach of the parts labelled II1, IV and VII. [6 marks}

Write a balanced chemical equation for the reaction that takes place between the
hydrochloric acid and the sodium hydroxide. [2 marks]

Assuming the volume of acid is 28.0 cm?, calculate the number of moles of
sodlum hydroxnde in 100 cm? of the sodium hydroxide solution. . [5 marks]

set-up |lIuslraled above. [2 marks]

What would be the effect on the titration result if droplets of acid are found in -
the space labelled V? [2 marks]

. State two precautions to be taken when carrying out an experlmenl with the
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